(H‘ER)

HER BISESERERE (R6. 4~3)
A |B |[ZHBEE | IRALEE |THEHE (gBaRS [(BEA AR BE
7] 25 50 48,760 |sAEHE | 1AEMMEE |HHESNE (#EETH4%)
8] 13 62 15275|sAEmE| 1:ABEMEE |HESHE RErm(14)
8] 13 63 15275|sAEmE| 1:ABEMEE |FHHESHE RErm(144)
8] 13 64 15275|sAEmE| 1:ABEMEE |HHESHE RErm(144)
11] 25 105 14,154|sAEmE| 1:RABEEE |HHESHE ZOOMEZ+—(1%)
12] 23 120 25275|;m=EMmE| 1 AEMEE [HHESNE 542 (14%)
134,014 1 RETEE Kt _ _
5] 8 12 42,9005z | 2HRIRE R, 2B E ™ HE(RA)
7] 8 42 176,320 |57 | 2HRIRE EET BHHE (44)
9] 30 86 940 |sAEMR | 2HRIRE KB (14) i
9] 30 87 940 |sAEMR| 2HRIRE KB (14) i
9] 30 88 960 |sAZEmE | 2tH5RIRE ABrH(148) HHE
1] 24 131 146,640 saE % | 2HRRE = U, 2 Hm 1RE
368,700 2HIRIRE K& _ _
6] 3 22 6.700|mamzun | SRBHE L [/ PELH— mRBHE(6H1H)
2[17 142 4,350 (mamzun | SEIGE LR [P/NBE L H— mRBAES(2H15H)
11,050 SRIBHEN it _
4] 4 2 51,700[3A=®% | SHIRIZ JE—#)—XR(4A%) FlEEEL(Ja-)
5] 7 9 51,700(3A=®z% | SHIRIZE JE—#)—XGA5) FlEEEL(JO—)
6] 4 24 51,700(3A=®z% | SHIRIZE aE—#1)—X(6A %)
7] 4 39 51,700(3A=®z% | SHIRIZE JE—#)—X(TA%) FlEEEL(O—)
8] 5 58 51,700(3A=®z% | SHIRIZE JE—#1)—X(8A %) FlEEEL(Ja—)
9] 4 75 51,700 [A=#%| SEIRIZE JE—#)—X(9A %) FlEEEL(JO—)
10] 4 91 51,700(3A=®z% | SHIRIZE JE—#)—X (108 %) FlEEEL(JO—)
11] 5 100 51,700(3A=®z% | SHIRIZE JE—#)—X118%) FlEEEL(Ja—)
12| 4 113 51,700(3A=®z% | SHIRIZE JE—#)—X(128%) FlEEEL(O—)
1l 6 126 51,700(3A=®z% | SHIRIZE JE—#%)—XUA%) FlEEEL(JO—)
2] 4 137 51,700(3R=®z% | SHIRIZE JE—#)—X(28%) FlEEEL(O—)
3] 4 147 51,700(3R=®z% | SHIRIZE JE—#)—XBAHR) FlEEEL(JO—)
4] 30 8 16,456 |5A&m%R | SEIRIZE JE—KUAR)
5] 27 16 12,150|sA&m% | SENRIZE JE—KGASR)
6] 27 36 37,086z | SHIRIE JE—K6EAR)
7] 29 52 13,509 |5AEmE | SENRIZE JE—RUTAS)
8| 28 70 11,874 |sAEwHx| SEIRIZE JE—HKGAS)
9] 25 81 12,475 |sAEmR| SEIRIZE JE—K0AR)
10 28 94 12,257|5AEm% | SEIRIZE aE—HR (108 4%)
11] 25 104 17,129|5A&m% | SEIRIZE JE—KU1BH)
12] 25 121 30,783[R=wz | SHIRIE aE—R (128 4%)
1] 27 133 23,396|AEm% | SHIRIE aE—RKRUASD)
2|25 144 30,080(sA=®z | SHIRIE JE—KQCASR)
3|26 156 54,191|3=mz | SHIRIE JE—KGA )
891,786 FEER]
7l 8 41 89,496 |:R=wE | 6/LEE Bl=a—2 (HE7 Y —FHmEAR 250000 | (FI=1—R2118)
11] 27 107 276,320(sA=M% | 6ILIRE H=21—X (FIRI{E 17,5004%) [(A=a1—X2128)
11] 27 108 287,320(sR=M%E | 6ILIRE H=21—X (FIRI4E 20,0004%) [(A=21—X2138)
2] 12 140 312,620(sA=m% | 6ILIRE H=21—X (FIRI4E 19,0004%) [(A=a1—X2148)
4] 8 161 309,320|sR=mME | 6ILIRE H=—1—X (EIRI 21,000%) [(F=1—X2158)
1,275,076 CILEE af —
4] 25 5 4800[sAzHE| 7THEBAE |BAREHEAAS)
5] 27 17 4800 sAzHE| 7THEEAE |BAREHEGAS)
6] 27 38 4800[sAzHE | 7HEEALE |BAREHBSHTIC6AS)
7] 24 48 4800[sAEHE | 7THEEAE |BAREHBSHIGAS)
8] 26 66 4800[sAEHE| 7THEEALE |BAREHBSHTIGASR)
9] 25 82 4,800 |sAxEmzE| 7HEEAE |BAREHBESHTIOAS)
10 28 95 4800[sAzHE | 7THEEALE |BAREHBG0BS)
11] 22 103 4800[sAzHE | 7THEEALE |BAREHBG1AS)
12[ 20 119 4800[sAzHE | 7THEEALE |BAREHB(285)
122 128 4800/ sAzHE| 7THEEAE |BAREHBEUAS)
2] 25 143 4800[sAzHE | 7HEBEALE |BABEEFB(CAS)
3] 24 155 4800[sAzHE | 7THEBEALE |BAEEFHGASR)
4] 30 7 4700[sRzHE| 7TNERAEZ |(HMEFEUASR)
5] 30 19 4700[sRzHE | TNERAEZ |(HMEFHEGASR)
7] 8 43 4,700 sAEHE | 7THEBAE |HEFHEEHTI(685)
7] 29 56 4,700 sAEHE | 7THEBAE |HFFHESHTGTAS)
9[12 78 4,700 |sAEmz| 7RHEBAE |HEFEEATI(BAS)
9] 30 89 4,700 |sAEmE| 7RHEBAE |HEFEEHATI(9A5)
10] 29 96 4,700\ sREHR| 7TRIEBAE |[MPHEG0HES)
11] 27 110 4,700\ sREHR| 7TRIEBAE |MPHEG1ES)
12] 25 122 4,700\ sREHR| 7TRIZEBAE |MPHEG28S)
130 134 4,700|sEHR| 7TRIZEBAE |MPHEGASR)
3] 7 149 4700[sRzHE | 7TNERBAEZ |(HMEFHEQCASR)
3|27 158 4700[sRzHE | 7TNERAZE |(HMEFEGCASR)
4] 25 6 2903|sAEHE| 7THEBAE |[ZEDQVAILL, [Hif Bxl BELBAKUAR)
5] 27 14 2903|sAEHE| 7HEBAE |[[ZEDUVAILL, [Hif [Bxl BELBAKGAR)
6|17 30 2903|EEHE| THEBAZ |[ZMHQUAILL TR, [Bxl BELBEAEKEGAR)
7] 18 46 2903|sEEHE| THEBAZ |[[ZMHQUAILL [RIfl. [#Bxl BELEBAKTASR)




(H‘ER)

A |B |[ZHEE | IRALEE |THEHE (gBaxs [(BREA AR EE
8] 26 65 2903|sEHE| THEBAZ |[[ZMHQUAILL TR, [Bxl BELBARKGAR)
9[12 77 2,903 sAEHE| 7TREBAE |[ZXEQUVAILL. [Hif], [#B&l] BEEBAREKOAR)
1017 93 2903|EHE| THEBAZ |[[ZMHEQUAILL TR, BEl. EsEBAKG0AY)
1118 101 2903|EHE| THEBAZE |[[ZMHQUAILL TR, BEl. EsEBAKMIAY)
12[12 118 2903|EHE| THEBAZ |[[ZMHQUAILL TR, BEl. EsEBAK02AY)
122 129 2903|EHE| THEBAZE |[[ZMHQUAILL TR, Bl BELEBEAKUASR)
2] 12 139 2903|EHE| THEBAZE |[[ZMHQUAILL TR, Bxl BELBAKCAR)
3[12 150 3,893 |sEHE| 7TRIEBAE [IxrousiE). (54l ragises |[#E]. ZE2LE8EKCAD)
7] 24 47 8400[sAzME | 7THERALE |SF5HRE (2024.4~2025.3) - 4R SB2EE (2024.4~2025.3)
8] 26 68 2000/ sAEHE | 7THEBALE |4FRETHA~Y—17/ 1t
9] 18 79 6,000 |sAxEME| 7RIEEALE |EIHHE (2024548 ~2025%38)
9] 18 80 57,640 |sREmE| 7TREBAE [t U K BiEmes- ik
1118 102 61,254[3R=mx| TREEAE [HhARBEZRERSH A MBERE LTS
12] 11 117 1112|5EmE | 7TREEAE |FiisAHE 202444 H ~20254%3 8
122 130 3675 AEHE| 7THEBALE |BITHANE
2] 14 141 12,9315 | 7TRIEBAE A BERESSH (296-302)
3| 24 154 6,779 |EME | THEBALE |#h7HBEHEE BT S £ (502-505)
315,617 TEMBAL %it
5] 8 11 10,074|5EHx| SEBIEE For—hRIE ZRALL 69E% [4A12BH~5A28%
5] 21 13 5110|5A%#Hx| SHEIEE For—hRIE 2RALL 3589 |5ATA~5H218%
5] 27 18 438|sEMR| SEBIEE For—hRIE SEANLL 35EH
6] 3 23 3,942 |sAEHR| SHEIEE For—hRIEE 2RALL 275845 58308, 6838 %
6] 10 26 4672|5AEHE| SHEIEE For—hRIE ZRALL 32845 5298 ~6A108
6] 14 27 438|sEMR| SEIEE Toar—NRIE ZRANLL 3@5 [6A12B~6A13H
6|17 28 146[3R=ME| SEIEE Toyr—NRIE ZERANLL @5 (68148
6|17 29 730|sAEHE | SHEIEE Foy—NRIE ZEAMNLL 5@ [6817H
6] 27 37 1,022|5A%m | SHBIEE For—hRIE SERALL 785 [6 198 ~6H26H
7] 8 44 292(sA=EHE| SBEIEE For—hBIE SRALL 2@% [7H3H. 7H8H
7] 18 45 146[3R=ME| SHEIEE Toyr—NRIE ZERANLL 1@ [7H18H
7] 24 49 202|sEMR| SEBIEE Tohr—NRIE ZERANL 285 [5A108. 78248
7] 29 53 146[3R=ME| SHEIEE Foyr—NRIE ZERANLL 1@ [7H298
7] 31 57 146[3R=ME| SHEIEE Toyr—NRIE ZERANLL 1@ [7A31H
8] 8 61 146[3R=ME| SEIEE Toor—NRIE ZEBRAWLL 1iE5 |[8A8H
8| 26 67 146[3R=ME| SHEIEE Tor—NRIE ZERAMNL 1@ [8H22H
8] 5 60 2,184|sAEHE| SBIEE FEELET7H—k 2638
5] 27 15 5016|5AEHE| SHEIEE A A—2IMERFB (AR S) |BIEFEEL(RMOL)
6] 27 31 5016|5AEHE| SHEIEE A —yMERFI6HES) [BIEEEL(RMOL)
7] 29 51 5016|5AEHE| SHEIEE A B—FIM ) [BIEEEL(RAAL)
8| 27 69 5016|5AZEHE| SHEIEE A BZ—FIM : ) [BIEEEL(RAAL)
9| 27 83 5,016 [fAZHE| SHEIEE A BZ—FIM : ) [BIEEEL(RAAL)
10 28 90 5,016 [fAZEHE| SHEIEE A BZ—FIM : ) |BIEEEL (RM4aL)
11] 27 106 5016|5AZE#HE| SHEIEE A BZ—FIM : B4) [BIEEEL(RAOL)
12] 27 125 5016|5AZEHE| SHEIEE A A—2IMERFE (1A 5) |BIEFEL(RMOL)
127 132 5016|5AEHE| SHEIEE A —yMERFI (128 5) [BIEEEL(RMOL)
2|27 145 5016|5AEHE| SHEIEE A B—FIM : ) [BIEEEL(RAAL)
3|27 157 5016|5AEHE| SHEIEE A BZ—FIM ) [BIEEEL(RAAL)
4] 28 162 5016|5AZEHE| SHEIEE A BZ—FIM ) [BIEEEL(RAAL)
12| 3 112 1,280 (@& | SEIEE FELE 4%
91,542 FIEET
4] 25 3 17,800 A& HE o rzmaemes [R5 4AH)
4] 25 4 86,600 |sAZE#H: |oarsnarmes (A5 WA D)
5] 30 20 83,900 |sA=E#H% oarsnarmes [R5 GAR)
5] 30 21 35,200 5% |oarsnarnes [R5 GAR)
6] 27 32 84,500 |sAEHE |oarsnarmes [R5 GA YD)
6] 27 33 29,200|sAEHE |oarsnarmes [R5 GA D)
7] 29 54 77,600 |sAE#HE oarsnarnes [R5 A YD)
7] 29 55 29,400 |sAEHE oarsnarmes [R5 TAYD)
8] 29 71 76,100 [sA=EHE osrsnarmss (5 BA YD)
8| 29 74 1,950 [sAZEHE osrznarmes [B5 (BASH)
9] 30 84 7,150 |sAEHE oarsnarmes (85 QA YD)
9] 30 85 96,250 [sAEME [osrsnarmss (5 0OAY)
10{ 31 97 45,200 AL [osrznarnes |85 (108 5)
10{ 31 98 94,950 |sAE#HR oarsnaEmes (85 (10B $H)
11] 28 111 87,800 |5 oarsnaEmes [R5 (1A SH)
12] 26 123 5,200 |SAEHE srzmaemnss [R5 (128 )
12] 26 124 100,150 A& [osrznaemes |85 (128 H)
130 135 17,550 [AEHE [osrznarmes |5 (U ASH)
130 136 83,250 |sAEm% oarsnarmes (BRS5UAD)
2|27 146 94,950 SR oarsnarmes [R5 QA H)
3] 31 159 98,200 |sAE#H% |oarsnarmes (85 BA YD)
3] 31 160 17,550 [AEHE [ rznarmes K5 BASH)
6] 27 34 82,433 | TR [srsnaERss | E=—FE
6] 27 35 35,400 |AE#HE [osrsnaERes | E=—FE
8| 29 72 33,920 |FAEMR [102REBEERARZE (2024548 ~7H B#A¥100fE L IF5
8| 29 73 12,000 [FAEME |10SREBEEREE (2024548 ~7A BAY100fE LTS
12] 9 115 40,960 [FAEHE [0srsnaERes (ZE—EE
12] 9 116 179,720 |sAE#HE [osrznarnes |XE—KE
3[13 152 46,392 [3EHE [oarznaEmes |[HIXFY




(H‘ER)

BB [xHEs |IRASLE (THELE #EXS [(RER AR EE
3[13 153 3,792 |FAEHE [arznaEmes |HIRFY
1,705,067 108 RGMAERER N
10] 4 92 4,400 REHR |1 BHE /Ay )—RE (108 %) FlEEEL(O-)
11] 5 99 4,400 REHR |1 EHKE Nya)—REA1BH) FlEEEL(JO—)
12| 4 114 4,400 SREHR |1 EHKE NYaV)—ZRE (128 5) FlEEEL(Ja—)
1l 6 127 4,400 REHR |1 EHKE Ny ) —RE0ASR) FlEEEL(JO—)
2] 4 138 4,400 REHR |1 EHKE Ny ) —REQASR) FlEEEL(Ja—)
3] 4 148 4,400 REHR |1 EHKE \ya ) —REGASR) FlEEEL(JO—)
4] 4 1 4,400|sAEHE [11EHEE Nyav)—28 4B 5) FlEEEL(JO—)
5] 7 10 4,400 REHR |1 EHKE Ny )—REGASR) FlEEEL(JO—)
6] 4 25 4,400 REHR |1 EHKE N\ya)—RE6ASR) FlEEEL(JO—)
7] 4 40 4,400 REHR |1 EHKE Ny ) —RETASR) FlEEEL(JO—)
8] 5 59 4,400 REHR |1 EHKE N\ya)—RE(BASR) FlEEEL(JO—)
9] 4 76 4,400 [sAEHR [11BHRE Nya ) —RE A S) FlEEEL(JO—)
11] 27 109 8,560 |AEMRE |11 EHKE aE—R#HER
3[12 151 10,290 AEMR |11 =HE JE—R#HFR
71,650 EX I ES
4119 2,400,000 BnznE | BISEEE BEESHE (4~98 %)
10[ 18 2,400,000 mnEnE | ISEEE BiESHE (10~3 8 %)
4,800,000 0 BB EEE S5
8l 19 122 FE [FIR
2117 619 FE [FIER
741 0 TS &
4,800,741 4,864,502 #45

4,800,000 3 {1%E

101.34% $hiTHR



